45 2159 do] | 45+ A&
(1) 21.98 cm 7cm
(2) 37.68 cm 12cm
(3)31.4cm 10 cm
(4) 12.56 cm 4cm
(5) 18.84 cm 6 cm
@ 3.141 @ 3.1416 ® 3.142

@®)3.14 ® 3.1

21.98 + 7, 37.68 + 12, 31.4 + 10,
12,56 + 4, 18.84 + 6
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[> HEFD 32cm

100.48 + 3.14 = 32( cm)
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(45)=(A&)x3.14
16 x 3.14 = 50.24( cm)
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14 x 3.14 = 43.96( cm)
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11. 29 B3, 99 Yol g T3 Q.

[ 2
[> MEH: 28.26 cm?

(99 Ho])=3x 3 x3.14 = 28.26( cm?)
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B 201g0] : 8+ 2 — 4(cm)
o] \o] @ 4x4x3.14 = 50.24( cm?)
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(29] Yol)=(RrAE)x (FAF)x3.14
= 15x 15 x 3.14 = 706.5( cm?)
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» E cm

> HE:. 8cm

(AE) =50.24 + 3.14 = 16( cm)
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-F cm

> M. 69.08cm

(4%)

X 2x3.14
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(89F) = (AF)x3.14
4% 3.14 = 43.96( cm)
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2P E 5 2Reng, 294 59 Zolo 5 w7t Hyrt
w2hA 1x3.14 x5 = 15.7(m) Ytk
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1m=100cm |22
20.724 m= 2072.4 cm QU T}
2072.4 + (2 x 3.14 x 15) = 22( cm)
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